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EHRARE % 1.0 | (549,520 5,495
BEHEGtEAERE- B0 2 1.0 3,885 3885 Hi—35

a &t 558,900
SHE#ARE 549,520




(HYEMFE255)

fRAT- B E 1 SYEER

AEREREER)

% FR i /N . ~t b % Bii| %= B = & Hif&S
FEHED A 5.0 58,600 293,000 EBi—2
B (A) A 6.0 51,200 307,200 E—3
£Em (B) A 4.0 41,600 166,400 B —4
A (C) A 6.0 32,800 196,800 B —5
EBRARE % 1.0 | (963,400) 9,634
BEFEGIEARSRE-ER) = 1.0 6,759 6,759| Hi—36

=) &t 979,793 979,793
SHLEHAHE 963,400




(HYEM&RF26%)

fRtT - B 5 1 Z[YEMK

£ (7 i 1K . t % % B #=E B & %8 BHES
FEEER A 1.9 58,600 111,340 B—2
M (A) A 2.1 51,200 107,520 HB—3
F6f (B) A 26 41,600 108,160 B —4
Fihfi (C) A 2.6 32,800 85280 Hi—5
EERRE % 10| (412,300) 4123
= 5 416,423 416,423
SHEEEAGE 412,300




(HYEMKRFE27S)

rowyEER 1H

=P B

2tF& #H98kw
% L i K & % B #E B & %8 BfES i3]
23] REUR (T Q 20.00 134.0 2,680 H—16
EELF — iR (BHRE) A 1 16,600 16,600 EBi—14
(A 2tFE#H98kw BERIE =1 47 248 1,165 Bi—20
cSwy 2tFEH98kw ISR =] 1.13 2,530 2,858| Bi—21
N i 23,303




(HYEMRFE285)

1H

=P B

>

)

2H/5t8H. 11H, 13H, 16H

% L i K . ~t & % ==X = B & % BfES i3]
VDN L¥Xas5—, AAUR(#RT) 0 6.00 150.5 903 Bi—15
REE SAkN 20 69kw BiEziEf B 20 290 580 Hi—18
REE SAkN 20 69kw fEFRIER =} 1.19 1,510 1,796 B —19
=1 5 3,279




(HYHEMBRFE295)

ﬂﬁﬁ’n LEJT\ 1H

=P e

(RBRHS2I7)

SAEHN8E L) $HD 150PSE! 150t 110kw 1E3H/FL8HTHRE

% R i N . g %= % B #HE B {f * R | BEES ¥ =
AEH 2-A—Y—, LS(#I) ) 48.00 93.7 4,497| Bi— 17 |=16.1x3h=48.3L
=M E ERE A 1.95 26,800 52,260 B— 12 [1Ax179Fx $(1.95)
TEMmE ERE A 1.95 21,600 42,120 B— 13 [1Ax179Fx $(1.95)
A M $HD 150PSE! 15.0t 110kw EERiEH} A 1.00 15,100 15,100 Bi— 22
A M $HD 150PSE! 15.0t 110kw L FREH | 2.90 14,100 40890 B — 23 |«

HiGERE % 24.36 | (154,867) 37,725
—EEEE % 24.75 | (192,592) 47,666
a H 240,258




(HYHEHRFEIS)

ﬂﬁﬁ’n LEJT\ 1H

=P e

(RBRHS2I7)

FAEMUEL) $HD 150PSE! 15.0t 110kw E8H/FL13HTHEH

% R K . g %= % B #HE B {f ® B | BEES ¥ =
AEH 2-A—Y—, LS(#I) ) 129.00 93.7 12,087 Bi— 17 |=16.1x8h=128.8L
=M E ERE A 2.51 26,800 67,268 B— 12 [1Ax179Fx B(251)
LTEME ERE A 2.52 21,600 54,432| H— 13 [1Ax179Fx B(2.52)
A M $HD 150PSE! 15.0t 110kw EERiEH} A 1.00 15,100 15,100 Bi— 22
A M $HD 150PSE! 15.0t 110kw L FREH | 2.90 14,100 40890 B — 23 |«
HiGERE % 24.36 | (189,777) 46,229
—REEE % 24.75 | (236,006) 58,411

& < 294,417




(HYHEMRFEIS)

ﬂﬁﬁ’n LEJT\ 1H

=P e

(RBRHS2I7)

SAEHME L) $8D 150PSEY 15.0t 110kw SEOH/FL1 1HTHRE

% R i N . g %= % B #HE B {f * R | BEES ¥ =
AEH 2-A—Y—, LS(#I) ) 145.00 93.7 13,586 Bi— 17 |=16.1xX9h=144.9L
=M E ERE A 2.28 26,800 61,104 B — 12 [1Ax179Fx $(2.28)
LTEME ERE A 2.29 21,600 49,464 B — 13 [1Ax179F x B(2.29)
A M $HD 150PSE! 15.0t 110kw EERiEH} A 1.00 15,100 15,100 Bi— 22
A M $HD 150PSE! 15.0t 110kw L FREH | 2.90 14,100 40890 B — 23 |«

RS EEE % 24.36 | (180,144) 43,883
—REEE % 24.75 | (224,027) 55,446
a H 279,473




(HYHEHBRFEI2S)

HEWDLEJT\ 1H %Uﬁﬁﬁ%

(HRZRES97)
AEHMUE L) SHD 150PSE! 15.0t 110kw 1E14H/5h16HTIRE

% R i N . g %= % B #HE B {f * R | BEES ¥ =
AEH 2-A—Y—, LS(#I) ) 225.00 93.7 21,082| Bi— 17 |[=16.1x14h=225.4L
=M E ERE A 2.84 26,800 76,112 BE— 12 [1Ax179Fx 3(2.84)
LTEME ERE A 2.87 21,600 61,992| B — 13 [1Ax179Fx B(2.87)
A M $HD 150PSE! 15.0t 110kw EERiEH} A 1.00 15,100 15,100 Bi— 22
A M $HD 150PSE! 15.0t 110kw L FREH | 2.90 14,100 40890 B — 23 |«

RS EEE % 24.36 | (215,176) 52,416
—EEEE % 24.75 | (267,592) 66,229
N i 333,821




(HYHEHBRFEIS)

HEWDLEJT\ 1H %Uﬁﬁﬁ%

(HRZRES97)
SAEHMUE L) 48D 150PSEY 15.0t 110kw E6H/FE8HTHRE

% R i N . g %= % B #HE B {f * R | BEES ¥ =
AEH 2-A—Y—, LS(#I) ) 97.00 93.7 9,088 Bi— 17 |=16.1 X 6h=96.6L
=M E ERE A 1.95 26,800 52,260 B— 12 [1Ax179Fx $(1.95)
TEMmE ERE A 1.95 21,600 42,120 B— 13 [1Ax179Fx $(1.95)
A M $HD 150PSE! 15.0t 110kw EERiEH} A 1.00 15,100 15,100 Bi— 22
A M $HD 150PSE! 15.0t 110kw L FREH | 2.90 14,100 40890 B — 23 |«

HiGERE % 24.36 | (159,458) 38,843
—EEEE % 24.75 | (198,301) 49,079
a B 247,380




(HYHEHBRFELS)

SHEMES: 1H

=PLAES

(RBREHS2I1)

SAEHMUE L) 48D 150PSEY 15.0t 110kw E6H/FE8HTHRE

% R i N . g %= % B #HE B {f * R | BEES ¥ =
AEH 2-A—Y—, LS(#I) ) 97.00 93.7 9,088 Bi— 17 |=16.1 X 6h=96.6L
=R E ERE A 1.20 26,800 32,160 Bi— 12
A M $HD 150PSE! 15.0t 110kw EERiEH} A 1.00 15,100 15,100 Bi— 22
A M $HD 150PSE! 15.0t 110kw H#LFEH A 1.65 14,100 23,265 BH— 23 |a
HGERE % 24.36 | (79,613) 19,393
—REEE % 2475 | (99,006) 24,503

a 123,509






